Mat321 — Spring 2019 -Exam1-Home

Instructor: Dr. Francesco Strazzullo Name

[ certify that | did not receive third party help in completing this test (sign)

1.A particle travels along a line. Its velocity in meters per second is given by v(t) = sin(4mt) — 3t2.
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Instructions. Technology and instructor's notes (including the formula sheets from our book) are allowed
on this exam. Each problem is worth 10 points. If you use notes or formula sheets, make a reference. When
(a) Find the displacement during the [2, 4] time frame; and
(b) the distance traveled by the particle fromz=1tor=5.
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using technology describe which commands (or keys typed) you used or print out your worksheet.
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SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).
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2. The marginal profit for renting x units of a resort is modeled by
Pl = 250g1-D00"
dollars per unit rented. At one point, 10 units are rented. What is the net-change in profit when 15 units
are rented? (Once you setup this problem you can use technology to perform computations.)
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3. Without using technology, compute
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4.Use the Substitution Method to evaluate the following integral:
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5.Use Integration by Parts to evaluate the following integral: O}
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6. Use the Partial Fractions Method to evaluate the following integral:
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7.Determine the mean of the probability density function
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Mat321 — Spring 2019 —-Exam1-In Class

Instructor: Dr. Francesco Strazzullo Name

Instructions. Technology and open book are allowed on this exam. Each problem is worth 10 points. If
you use notes or formula sheets, make a reference. When using technology describe which commands (or
keys typed) you used or print out your worksheet.

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

8. Without using technology, compute 7 .
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9. Without using technology to 1ntegrate evaluate the followmg definite lntegral
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10. Wlthout using technology to integrate, evaluate the following integral:
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